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Third Semester B.Arch. Degree Examifiation, Dec.2023l Jzn.2A24
Building Structrftris - ll
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Note: Answer any FIVE full questions,.SrtodStAg ONE full questionfqpfi[ each module.
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Define stress and explain di
An axial pull of 40000 N is

of stress.

', OR
2 a. Define strain an$#&plain different types ofsffii1t. ! (10 Marks)

b. A rod of 200cnf 'ting and of diameter 3bm is subjected to an axial pull of 30 kN. If the

Young's rnbautus is 2x 105 N/mm2, deteunin'e i) Stress ii) Strain iii) Elongation. (10 Marks)
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3 a. Define :"'i; tvtodutus of Rigidity ir',':t ii) Bulk Moduluq,tu'-{ii) Poisson's ratio. (06 Marks)
b. Explain briefly temperature.effeets on structure. d'**, .-tr , *r*ig, (04 Marks)
c. A bar of 20mm diameter,ffifficted to a pull of{SQ,l&N. The measurds.,,irxtension on'lauge

length of 250mm is 0.l2mm and change in diameteris 0.00375mm calculate
i) Young's modulus "'::.,ii) Poisson's ratio_%,' .iiY) Bulk modulus. " (10 Marks)

'\ oR !.\
4 A bar of 30n .fu diameter was ,,sa,pjfeted to tensile load-'of 54 kN and the measured

extension on 300mm gauge length"-*as 0.112 and chaiige in diameter is 0.00366mm.
Calculate,'Poi$son's ratis and val$eg of three modulii;il;11':+ (20 Marks)
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5 a. SummaYize the assumpt-ioa$:imBde by Euler o_nfung Column. (05 Marks)
b. A solid circular bar of S_ridorrg and 4cm"iffQiEneter was found to extend 4.5mm under a

=ttidsile load of 48 k#ffi4*#[e bar is used as\d$hut with both end hinged. Determine buckling
r,,::;"r1ou6 and safe toa{ffi,,factor of safeg:d. ' (15 Marks)
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6 a. Write fute#*Jfk[ng load Orrffi#for different end conditions. (10 Marks)
b. Calculate thti^Safe compressive$load on a hollow cart iron column with one end fixed and

other end hinged of 10cm,.e*ternal diameter and 7cm intemal diameter and 8 cm in length.

Take FOS :4 andE: g5liN/mm2 (10 Marks)
''::::l:'' -*:l
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7 a. Draw SFD and Bhm for a simply supported beam carrying UDL throughout the length of
(10 Marks)
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Draw SFD andBMD for the Fig.Q7(b) given belffi. s
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Draw SFD and BMD for a
Draw SFD and BMD
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(10 Marks)

(10 Marks)

(10 Marks)

ffi6-r-r"ia" *q$ (10 Marks)

il flg.Qgft) issu$!@d to shear force of 40 kN. Draw
l- ,j'*ry& ]i:i.$ ----.}Lshear stress variation across.the$efth. d'ru .,.. . :j*r.&.(,
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10 I-*eatioi given in the EfeW is simply sgfuted over a span of 4m to carry a UDL of

y$|,*r* over its .ir,ffi** ,.31effi5n:I]ear stress lrcross a section'

#ry"n u*fu.T 
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s.ur1.,+5,u n Fig.QlQ (20 Marks)
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